Test: 2017 Primary 1 - Term 2 (SA1) Math (Rosyth)
Points: 30 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 23 Primary 1 Math (Term 2) 2 pts

Read the questions carefully. Answer all questions. (Total 30 marks)

Count and type the number.
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Question 2 of 23 Primary 1 Math (Term 2) 2 pts

Choose the missing numbers.

8 9 11 12 13
A) 5, 11
B) 8,9
C) 7,10
D) 6,8
Question 3 of 23 Primary 1 Math (Term 2) 2 pts

Arrange the numbers from the smallest to the greatest. Put ‘space’ or ‘; between your
answers.

10 16 18 8

’ I ’

(smallest)

Question 4 of 23 Primary 1 Math (Term 2) 1 pt

Fill in the blanks with the correct answers.
You may use the number line to help you find the answers.
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10 11 12 13 14 15 16 17 18 19 20



Question 5 of 23 Primary 1 Math (Term 2) 1 pt

Fill in the blanks with the correct answers.
You may use the number line to help you find the answers.

| | ] | | | s ] | ] |
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10 1 12 13 14 15 16 17 18 19 20

(b) 4 more than 12 is

Question 6 of 23 Primary 1 Math (Term 2) 2 pts

Refer to the number bond below and write an addition equation with the numbers.

Question 7 of 23 Primary 1 Math (Term 2) 2 pts

Choose the two numbers that make 14.

3 [ 10 11 13

A) 3

B) 10
C) 1"
D) 13



Question 8 of 23 Primary 1 Math (Term 2) 1 pt
Fill in the blanks with the correct answers.
You may use the number line to help you find the answers.
| 1
I —— l I % i — .
10 11 12 13 14 15 16 17 18 19 20
(a) 18 - =14
Question 9 of 23 Primary 1 Math (Term 2) 1 pt
Fill in the blanks with the correct answers.
You may use the number line to help you find the answers.
| 1
I —— I I % i — .
10 1 12 13 14 15 16 17 18 19 20
(b) 7 less than 19 is
Question 10 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture and fill in the blank.

OO0O0O0000
ODDPDLDD

(a) 15 - =9




Question 11 of 23

Look at the picture and fill in the blank.

Primary 1 Math (Term 2)

OOOOO0O00O000
COLPLLLLDDD

(b)20-9=__

Question 12 of 23

Primary 1 Math (Term 2)

Look at the picture below and choose the correct subtraction equation.
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8-5=3
13-3=10
13-8=5
5-3=2



Question 13 of 23 Primary 1 Math (Term 2) 2 pts

Look at the picture below. What is the position of the circled bear from left?

C) 3rd
D) 4th

Question 14 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture. The children are queuing up to buy cakes.
Fill in the blank with the correct answer.

(@) is the first person in the queue.



Question 15 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture. The children are queuing up to buy cakes.
Fill in the blank with the correct answer.

(b) May is the person in the queue.



Question 16 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture below and fill in the blank.

(a) Pencil is the longest.



Question 17 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture below and fill in the blank.

(b) Pencil is shorter than Pencil C.



Question 18 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture below and answer the question below.

1 ERASER I ERASERI ERASER IERASER ]

(a) The toy car is about paperclips long.



Question 19 of 23 Primary 1 Math (Term 2) 1 pt

Look at the picture below and answer the question below.

1 ERASER I ERASERI ERASER IERASER ]

(b) The paperclip is than the eraser.

A) shorter
B) longer



Question 20 of 23 Primary 1 Math (Term 2)

Look at the picture below.
Sam has 16 apples. He gives away 5 apples to his brother.

(a) How many apples does Sam have left? Choose the correct equation.
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A) 16-10=6
B) 16-5=11
C) 5-4=1

D) 5-5=0

1 pt



Question 21 of 23 Primary 1 Math (Term 2)
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Look at the picture below.
Sam has 16 apples. He gives away 5 apples to his brother.
How many apples does Sam have left?
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(b) Sam has apples left.
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1 pt



Question 22 of 23 Primary 1 Math (Term 2) 1 pt

Look at the pictures below.

June
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Tom has 12 cookies.
June has 6 more cookies than Tom.

(a) How many cookies does June have? Choose the correct equation.

A) 12+6=18
B) 12+3=15
C) 6+6=12

D) 12+12=24



Question 23 of 23

Look at the picture below.

Primary 1 Math (Term 2)

June
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Tom has 12 cookies.
June has 6 more cookies than Tom.
How many cookies does June have?

(b) June has cookies.

1 pt




